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Abstract

The primary objective of this study is to firstly survey and analyze the working
environment and actual condition, secondly know their problems, and then
provide the basic data about how to improve their working conditions.

The specific study items for getting the goal above is as follows: 1. How does
the industrial company connect with highschool vocational education well?

2. How does the mechanical technical highschool graduate apply with industrial
field?

The result of study is as follows: 1. In case of employment’s information and
the industrial educationed cooperation, the workers who has the working history
in less than 5 years takes short to find the job. National high school graduates
and those who get the job through the school and the teacher changed their job
at short period compared to other. 2. There was no benefit about the same
major's worker at industrial field. The workers admitted that there is the
exemption fo military service and the certification’s allowance, only for which is
related to their job. The longer the workers stay their job, the more they had the
chance to get the exemption of military service. National highschool were carried
out the curriculum well as planed especially for their major subjects. Whereas, the
public and private highschools weren’t. The seniors of their job and the
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coworkers are very helpful for learning the actual knowledge. The workers said
that the school’s curriculum and club activity weren’t effective applying with their
working field. 3. The study says that the important things of their job is the
knowledge of their major. Those who 80% answered that the worker must
improve the knowledge of their major to be a good engineer. Learning from their
senior in working field was very helpful. The question above was ranked as the
first. 4. The answer says that the new changed job’s pay is more than the
previous job. That is, the reason of leaving the job is the pay gap. The most
dissatisfaction and problems in present job was the environment of working and
the working condition. 5. Regarding to asking next year’s plan, the answer says
that keeping the job was ranked as the first. That answer means that they are
conservative.

Key words : Vocational high school, Industrial fild, Adaptation situation
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